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1. MBERANARBEFAZHENRNEMBOEEAR -

2. REFEFHEMHFEX > BRELBNGE > MRG0

3. BRBOEZHFEKX ARG > B EHlne o

4, HIEMERAEHT  FAEORENIHLBIe  REHELREBHLAHE -
5. AaBFF B AN ERBEEGIBERE oM o

6. THEMA  AHAEHEANRIAIKE

7. EMAREBEE R RRECN MRS -

8. B Ma<03 BREMMBE N RE TUMILAERTREERE R -
9. HBRPHBRABAEZREBBRNEZHIMES -

10. AEBENEREEGRELEMN

11, REERBMN OGN BE ~ B E ~ B -

[2] B4 AL 20 0] - CEEERBIHAEX > BAFIHFHFESXL T3 4)

L54]: CaRTREREBGKPFEETE  ADSE RS HNE v Fov, o ZERAHGICHAP
Py —P,» Bl AP SR —iEE ? (A EULAE 7 3 EX)

(A) p/2 (V3 —vi)

(B) p/2 (Wi —v5)

(©) pg(hy —hy)

(D) O

fl

2547 —AREFANAKTHRE > EFESL 01m> FEA 500kg/m? - Kbk B AT L 091F
Koo (KT E * prysg = 1000 kg/m® ~ EHpeik 1 g =9.81m/s? ~ SKBEREH © V = 4nr3/3) (i
BB EIHHER)

(A) 20.5N

(B) 41.1N

(C) 604N

(D) 872N

3.5 %) K20 m/sth R ERBEZH001m* B EEHE - RRBEMERLYRMER A - (B E:
SR ] 3 H )

(A) 1000 N

(B) 2000N
(C) 3000N
(D) 4000 N
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1 BB Al —EFRAREERL m/s BEAOLIm - ERGHABAEARLOX10Pa-5 -+ &
& £1000 kg/m FlEr3n g BT RER D

Bl A3 AL A0 N] - CEEFRBEFNNFHER  BHIHFTELXRTUTD)
1. [#£10 %] ARI0 m/sthiR ERBAL0.05Smeg B % HEEIERH D E0.02m e 3+ E BB HR
S 848 (BRATES 1000 kg/m3)

2. [# 15 5] A cylinder probe consists of circular cylinder with three probe holes as shown in the
accompanying cross section. The probe is rotated until p, — p3 = 0 at which point hole number 1 is

oriented at an angle of zero as shown. What should & be so that where U = \/4(p; — p,)/p, where p
is the density of the fluid. Treat this as a 2D problem.

3. [#£ 15 4] The y component of velocity in a two-dimensional incompressible flow field is given by v =

~1.571 Thereisno

—Axy, where v isin m/s, the coordinates are meqsured inmeters,and A = 1m
velocity component or variation in the z direction. Calculate the acceleration of a fluid particle at point
(x,¥) = (1,2). Estimate the radius of curvature of the streamline passing through this point. Plot the
streamline and show both the velocity vector and the acceleration vector on the plot. (Assume the

simplest form of the x component of velocity.)




